C:# Reihenfolge der Operationen Name:

L 6se jede Aufgabe. Antworten

1) (8¢2)+12-8+6 2) 6+3(20:2+6) X
2.
3.
4.

3) 3(12-3+80:10)+10 4 (2+5)+24:6+10-7 i
6.
7.
8.

5 3¢2(14:2+15-6) 6) (8¢4)+9+6 .
10.

) 10+6:2(20:4+10) 8) 2+9-8(4+7)

9 (10+5)+17-9+16:4 100 (3+4)+45:9+7
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Reihenfolge der Operationen Name:

L dsungsschltissel

L 0se jede Aufgabe.

1) (8+2)+12-8+6
(16)+12-8+6
28-8+6
20+6
26

3) 3(12-3+80:10)+10
3+(12-3+8)+10
3:(9+8)+10
3+(17)+10
51+10
61

5 3¢2(14:2+15-6)
3¢2¢(7+15-6)
3+2+(22-6)
3+2¢(16)
616
96

) 10+6:2(20:4+10)
10+6:2(5210)
10+6:2+(50)
10+350
10+150
160

9 (10+5)+17-9+16:4
(15)+17-9+16:4
15+17-9+4
32-9+4
23+4
27

2) 6+3(20:2+6)
6+3+(10+6)
6+3+(16)
6+48
54

4 (2+5)+24:6+10-7
(7)+24:6+10-7
7+4+10-7
11+10-7
21-7
14

6) (8¢4)+9+6
(32)+9+6
41+6
47

8) 2+9-8(4+7)
2+9-8+(11)
2+9-88
11-88
-77

100 (3+4)+45:9+7
(7)+45:9+7
7+5e7
7+35
42

Antworten

26

o4

61

14

96

47

160

77

27

10.

42
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C:# Reihenfolge der Operationen Name:

L 6se jede Aufgabe. Antworten
160 96 =77 61
47 54 14 26 1
1) (8¢2)+12-8+6 2) 6+3(20:2+6) 2
3.
4,
5.
6.
3 3(12-3+80:10)+10 4 (2+5)+24:6+10-7
7.
8.
5 3¢2(14:2+15-6) 6) (844)+9+6
) 10+6:2(20:4+10) 8) 2+9-8(4+7)
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